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Question 1 of 64 Primary 5 Science (Term 2) 2 pts

For each question, four options are given. One of them is the correct answer. Make
your choice (A, B, C or D) and choose the correct answer. (28 x 2 marks = 56 marks)

Study the lable below.
Part of the human digestive system .
Function E F G H Key
Bigestion {akes. i B v ¥ present
place here,
Digested food is absorbed 7
into the bloodstream
Solid waste is passed out 7
of the body )

Which one of the fallowing comecti-shows the parts labelled E, F, G and H?

A)

B)









Question 2 of 64 Primary 5 Science (Term 2) 2 pts

Sludy the chart balow.
. Yes Yes
animals - X bat
No
cockroach adult
nymph grasshopper
Which of the following shows the characteristicsvepresented by X.and ¥7
A) |x Y
lays eggs | has 3 body parts
B) |x Y
breathes through lungs [has 3 body parts
C) |x Y
has 6 legs |gives birth to its young alive
D) |x Y
has feathers [gives birth to its young alive
Question 3 of 64 Primary 5 Science (Term 2) 2 pts

What is generally common among birds and fish?

A) They can swim.
B) They can reproduce by laying eggs.
C) They have the same outer covering.

D) They have the same breathing method.



Question 4 of 64 Primary 5 Science (Term 2) 2 pts

Study the diagram shown below.
part X

What is the function of part X?

A) It provides air for the young plant.
B) It provides food for the young plant.
C) It provides water for the young plant.

D) It provides protection for the young plant.

Question 5 of 64 Primary 5 Science (Term 2) 2 pts

A B, C and D represents the different stages in the life cycle of a butterfiy
A

PENN

(o] (=]

[

If B represents the adult stage of the bitterfly, what slage does Drepresent?

A) Egg

B) Larva
C) Pupa
D) Nymph



Question 6 of 64 Primary 5 Science (Term 2) 2 pts

The diagram below shows moviement of substances A and B in a cell.

| substance A @
substance B ©

Which one of the following best explains the above observation?

A) The cell membrane of the cell only allows substance A to pass through.
B) The cell membrane of the cell only allows substance B to pass through.
C) The cell membrane of the cell allows substance A and B to pass through.

D) The cell membrane of the cell does not allow any substances to pass through.



Question 7 of 64 Primary 5 Science (Term 2) 2 pts

Study the: diagram below.

organism W organism S
Which of the following statement(s) about the organisms isfare tnfa?

A Drganism W has more cells than organism S.
B  Both organisms have cells that carry out different functions.
C  Organism W is bigger than organism S because its cells are much larger. -

A) Bonly

B) AandC only
C) AandBonly
D) B and Conly



Question 8 of 64

The table below lsts the parts of a c

cells 5, H and J have,

?H. Each lick (+") represents the part of a cell that

Primary 5 Science (Term 2)

2 pts

Part of the cell “Cell G Coll H Cell J
Cell Membrans v ¥ i T
Coell Wall v Ery
Chioroplasts v
Nudeus - < 7

Where are cells G, H and JJ likely to be found?

A) [cellG|CellH

Cell J

cheek |[leaf

root

B) |cellG|CellH

Cell J

root cheek

leaf

C) |cellG|CellH

CellJ

leaf root

cheek

D) |cellG|CellH

Cell J

leaf cheek

root




Question 9 of 64

Primary 5 Science (Term 2)

The diagram below shows some fruit flies kept in a zealed jar.

¥
¥

W
T

£ K
L1

I.,I.l."

- .t
L3 Tl.“t

[ 1

2

; wr

cover

fruit fiy

food and water

2 pts

Which of the following comeclly shows the changes in the amount of gases in the jar

after five hours? '

A) |carbon Dioxide Oxygen |Nitrogen | Water Vapour
decrease increase |decrease |remain the same

B) |carbon Dioxide Oxygen |Nitrogen Water Vapour
increase decrease |[remain the same |decrease

C) |carbon Dioxide Oxygen |Nitrogen | Water Vapour
decrease increase |increase |remain the same

D) |carbon Dioxide Oxygen |Nitrogen Water Vapour
increase decrease |[remain the same |increase




Question 10 of 64 Primary 5 Science (Term 2) 2 pts

Study the lung-model below,

straw

glass jar ——

Which one of the following correctly- matches the parts of the lung-model to the himag
« respiratory system?

A) |Balloons |Rubber Sheet | Straw
heart diaphragm gullet

B) Balloons | Rubber Sheet | Straw
lungs heart gullet

C) |Balloons |Rubber Sheet |Straw

lungs diaphragm windpipe

D) Balloons |Rubber Sheet | Straw

diaphragm |lungs windpipe




Question 11 of 64 Primary 5 Science (Term 2) 2 pts

The diagram shows the direction of blood flow in some parts of the body.

B heart
A B c D
w
: other parts
ungs 4 of the ;

Which chart shows the comect comparison of the amount of carbon dioxide in the
blood samples?

A)

Amount of

Carbon dioxide-
A

i

Blood
sample

B)



Amount of

Carbon dioxide
A

= Blood
D sample

C)
Amount of
Carbon dioxide
A

R

Al
R b,

o e
A e, 8 TF
e A
I 5

VY

Blood
sample

A
s

e
i

D)



Amount of .
Carbon dioxide

Question 12 of 64

Primary 5 Science (Term 2)

>

Blood
sample

2 pts

The table below shows Steve's pulse rale when he camies out three different
activities.

Activity Pulse rate per minute
E 60
F 15
G B 105

Which of the following is likely to represent the-three activities correctly?

A)

B)

C)

D)

E F

G

sleeping

strolling in the park

playing basketball

E F

G

playing hockey

strolling in the park

sleeping

E F

G

reading a book

playing badminton

strolling in the park

E

F

G

strolling in the park

playing netball

reading a book




Question 13 of 64 Primary 5 Science (Term 2) 2 pts

Which one of the following comparisons between the human circulatory system and the plant
transport system is correct?

A) |Human circulatory system | Plant transport system

does not transport gases transports gases

B) |Human circulatory system Plant transport system

substances moves in two directions | substances moves in one direction

C) |Human circulatory system Plant transport system
has an organ to pump substances does not have an organ to pump substances
around the body around the plant
D) |Human circulatory system Plant transport system
has only one tube to carry substances has one tube to carry food and one tube
around the body to carry water
Question 14 of 64 Primary 5 Science (Term 2) 2 pts

Aron put a plant in a beaker of blue-coloured waler for 24 hours. The diagram below
shows a section of the stem after 24 hours.

Amron observed that tube S twmed blue but nat tube R. Which of the following is a
possible explanation for this observation?

A) Tube S transports food from the roots to all parts of the plant.
B) Tube S transports water from the roots to all parts of the plant.
C) Tube S transports food from the leaves to all parts of the plant.

D) Tube S transports water from the leaves to all parts of the plant.



Question 15 of 64 Primary 5 Science (Term 2) 2 pts

An outer ring of a slem was removed from a plant as shown below. As a result, the
tubes camying food and water were removed.

It was observed that part W of the plant grew I:rrgger'aﬂm one week.

Which of the following statement(s) best explains this observation?

A Food at 2 Is transported to W.

B  Food made by X is transported fo W.

C  Food made by Y is transported to W.

D W absorbs water and becomes bigger.
A) Bonly

B) AandD only
C) BandConly
D) CandD only



Question 16 of 64 Primary 5 Science (Term 2) 2 pts

The diagram below shows a car.

Part X helps to keep the rain away and allows the driver of the car to see the road
ahead clearhy.

Which of the following best represents the properties of part X7

A) Waterproof | Allows light to pass through

yes yes

B) Waterproof | Allows light to pass through

yes no

C) Waterproof | Allows light to pass through

no yes

D) Waterproof | Allows light to pass through

no no




Question 17 of 64 Primary 5 Science (Term 2) 2 pts

Study the diagram below.

glass tube

Which one of the following diagrams shows how the water in the tube would look like
when the glass tube is tited?

A)

B)

C)






Question 18 of 64 Primary 5 Science (Term 2) 2 pts

" The diﬂﬁr:;in below shows a syringe connected io a glass jar. The capacity of the
glass jar ks 500 em?®,
' piston

syringa
glass jar

100 cry? of water —====m=

When the piston is pushed in completely, ancther 80 cm® of air Is forced into the jar,
What is the volume of air in the jar?

A) 90cmd

B) 400 cm®
C) 490 cm?®
D) 500 cm®



Question 19 of 64

Primary 5 Science (Term 2) 2 pts

The set-ups below show two similar containers with water at different lemperatures.
Both containers were left on the table for 30 minutes.

100 ml of water
al &0 =C

Which one of the following table shows what happened to the water in the containers
after 30 minutes?

A)

B)

C)

D)

Gained heat Lost heat Temperature
Watfzr in v Increased
container X o
Wﬂlw.E‘-'T in W Reisassi
container Y
Gained heat | Lost heat Temperature
Vvamat in v’ Increased
container X -
Wat.a ~ ‘!v/ Decreased
container Y
-.Gained heat Lost heat Temperature
Wat_er . v Increased
container X : :
Watflr i v Increased
comtainer Y




Gained heat Lost heat Temperature
w:aifar in o Dacrisaian
contajner X
Wal{ar " v Decreased
container Y
Question 20 of 64 Primary 5 Science (Term 2) 2 pts
Study the set-ups below.
water at 50 °C water at 50 °C water at 70 °C

Which one of the following shows the comrect order of increasing amount of heat in the

water for set-ups A, B and C7

A)

B)

C)

D)

Least Amount of Heat

Most Amount of Heat

B

C

Least Amount of Heat

Most Amount of Heat

C

B

Least Amount of Heat

Most Amount of Heat

C

A

Least Amount of Heat

Most Amount of Heat

A

C




Question 21 of 64

Study the tabie below.
| Metal Temperature Temperature
before heating (°C) | after heating (“C)
= 20 a0
T 24 Fi:
u 21 ar
v 25 85

Primary 5 Science (Term 2)

2 pts

Which metal 5, T, U or V' is most suitable-for making the base of a frying pan?

A)
B)
C)
D)

< Cc 4w



Question 22 of 64 Primary 5 Science (Term 2) 2 pts

Majmi used the setup below to conduct an experiment on shadows in a dark room.
He usad a light sensor to measure the amount of light on the screan.

lght  data
SENs0or logger

)

length of

opaque object

lit tarch

He changed the position of one of the items in the set-up and recorded his
observations for each position as follows,

Langth of Light sensor .
shadow (cm) reading {units)
20 120
17 170
1 280
g ; 300

Wheat change did Maimi make?

A) Object was moved towards the torch.
B) Torch was moved towards the object.
C) Screen was moved towards the object.

D) Object was moved away from the screen.



Question 23 of 64 Primary 5 Science (Term 2) 2 pts

Cheng Yes wanted fo find oul which material could reflect the most light
He conducied the following experiment in a dark room.

wall
{materal E}

distance

He shone the torch onto matedal E and walked fowards it. When he could see the
material dearly, he stopped and recorded the distance between the torch and the
material. He repeated this experiment using materals F, G and H and recorded the

results in the table below.
Material E F G H
Distance (cm) 80 120 160 200

Which one of the following statements s comecl?

A) Material E is better at reflecting light than Material H.

B) Material G is better at reflecting light than Material F.

C) Material H is poorer at reflecting light than Material E.

D) Material F is poorer at reflecting light than Material E.

Question 2

4 of 64 Primary 5 Science (Term 2) 2 pts

Siti tried fo aftract some steel ciips using a nail which had been stroked by a bar
magnet. She chserved that no stesl clips were attracted. Which of the following
could be possible reason(s) for this observation?

A
8
c

D

A) Aonly
B) Bonly
C) Aand
D) B and

The nail was made of copper.

The nail was stroked by the south pole of the bar magnet only.

The nail was stroked many times in the same direction with the same
pole of the bar magnet each time.

The nail was stroked many times in different directions with the same
pole of the bar magnel each time.

D only
C only



Question 25 of 64 Primary 5 Science (Term 2) 2 pts

Calista set up the circuit as shown below. She arranged two identical bulbs in box D.
When she closed the circurt, both bulbs it up.

J—

Which one of the following arrangements of bulbs in box [ s not possibled?

3
e M 3

D)



(™

Question 26 of 64 Primary 5 Science (Term 2) 2 pts

F_in:llaus set up a circuit as shown below. All the five identical bulbs &t up when all
switches A, B and C ware closed ' = o

_® P S s ..@,_ =1
AL B

i
oo

Which of the following switch{es) should be opened in order to have thé least
number of bulbs 32

A) Bonly
B) Conly
C) AandBonly
D) Band Conly



Question 27 of 64

Primary 5 Science (Term 2)

2 pts

Three rods P, G and R each made of a different material were connected in a circuit

as shown below.

R—
B1

B2

Lo

&

The table below shows the results when the switch was closed.

Did the bulb light up?

B1 B2 B3 B4
yes yes no yes

Which of the following describes P, Q and R comactly?

A)

B)

C)

D)

P

Q

R

conductor

insulator

conductor

P

Q

R

conductor

conductor

insulator

P

Q R

insulator

insulator

conductor

P

Q

R

insulator

conductor

insulator




Question 28 of 64 Primary 5 Science (Term 2) 2 pts

Chee Hsiang was given a circuit card and a circuit tester as shown below. When one
and of the circult tester was clipped onto A and the other end onto D, the bulb 1it up.

circait
card

Which one of following connections correctly shows how the wires are connected on
the reverse side of the circuit card?

A)

B)



D)






Question 29 of 64

Primary 5 Science (Term 2)

Animals

Study the chart below carefully.
pr Group X N
Alligator
Tortoise
A Snake 4

-~

Group Y
Frog
Toad

k. Salamander )

\

0 pts

State one similarity and one difference between the characteristics of the animals in the two

groups above.

Similarity: (1)
Difference: (1)

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.



Question 30 of 64 Primary 5 Science (Term 2) 1 pt

Study the chart below carefully.
Animals
™ £ i
Group X Group Y
Alligator ' Frog
Tortoise Toad
s Snake ¥ | L Salamander y

Study ammal H below carefully.

T R -l.-ﬂ"l-
enlarged view of
its body covering

Which group X or ¥ should animal H be placed under? Give a reason for
YOUF answer.. [1]



Question 31 of 64 Primary 5 Science (Term 2) 0 pts

Zhi Hui wanted to find out F-germinating seeds produced-heak He soaked some
seeds in water before placing them in a glass container as shown.

double-layered soaked .
glass conlainer  seeds plasticine

air

- wire gauze thermometer

He measured the temperatwe in the container from time fo time until all the seeds
had geminated.

Give a reason why Zhi Hui did not fill the container completely with seeds.

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 32 of 64 Primary 5 Science (Term 2) 0 pts

Zhi Hui wanted to find out F-germinating seeds produced-heak He soaked some
seeds in water before placing them in a glass container as shown.

double-layered soaked .
glass conlainer  seeds plasticine

air

© wire gauze thermometer

He measured the temperatwe in the container from time fo time until all the seeds
had geminated.

Explain how using a double-layered glass container with air in between helps to make the
results of the experiment more reliable.

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 33 of 64 Primary 5 Science (Term 2) 0 pts

Zhi Hui wanted to find out F-germinating seeds produced-heak He soaked some
seeds in water before placing them in a glass container as shown.

double-layered soaked .
glass conlainer  seeds plasticine

air

- wire gauze thermometer

He measured the temperatwe in the container from time fo time until all the seeds
had geminated.

As the seeds were germinating, the temperature in the glass container increased. What can
Zhi Hui conclude from this observation?

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 34 of 64 Primary 5 Science (Term 2) 1 pt

The diagram below shows an animal cell and a plant cell.

cell A cell B
Identify which cell is a plant cell and which is an animal cell.
Cell A:
Cell B:
Question 35 of 64 Primary 5 Science (Term 2) 0 pts

The diagram below shows an animal cell and a plant cell.

cell A cell B
State the function of part X of cell A.

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 36 of 64

Primary 5 Science (Term 2)

The diagram below shows an animal cell and a plant cell.

cell A

0 pts

cell B

What will happen to the cell if part Y of cell B is removed? Explain your answer.

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 37 of 64 Primary 5 Science (Term 2) 0.5 pts
Diagram 1 below shows the movermnent of substances in 2 plant.
leaves
substance B
substance A
transporied by transported by
tube X . tube Y
substance B
substance A
roots
diagram 1
Identify tube X.
Question 38 of 64 Primary 5 Science (Term 2) 0.5 pts

Diagram 1 below shows the movermnent of substances in 2 plant.

leaves
substance B
substance A
transporied by transported by
tube X . tubeY
substance B
substanca A
roots
diagram 1

Identify tube Y.



Question 39 of 64 Primary 5 Science (Term2) 0.5 pts
Diagram 1 below shows the movermnent of substances in 2 plant.
leaves
substance B
substance A
transporied by transported by
tube X . tube Y
substance B
substance A
roots
diagram 1
Identify substance A.
Question 40 of 64 Primary 5 Science (Term 2) 0.5 pts

Diagram 1 below shows the movermnent of substances in 2 plant.

leaves
substance B
substance A
transporied by transported by
tube X . tubeY
substance B
substanca A
roots
diagram 1

Identify substance B.



Question 41 of 64 Primary 5 Science (Term 2) 0 pts

Diagram 1 below shows the movermnent of substances in 2 plant.

leaves
substance B
substance A
transporied by transported by
tube X . tube Y
substance B
substanca A
roots
diagram 1

Diagram 2 below shows the circulatory system of organism K.

B

other parls
gills heart of the body

+ diagram 2
Comparing diagrams 1 and 2, state one difference between the direction of transport system

of the plant and the circulatory system of organism K.

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 42 of 64 Primary 5 Science (Term 2) 1 pt

Laura conducted an experiment in a classroom as shown below. She wanted to find
out if réots tHke in water.

- .

—— -

e o e e e
T TN T S, A e PRI

set-up A set-up B sal-up C set-up
Which pair of set-ups should she use to make a fair comparison? Explain your answer.

Question 43 of 64 Primary 5 Science (Term 2) 0 pts

Laura conducted an experiment in a classroom as shown below. She wanted to find
out if roots tHke in waters

set-up set-up C sel-up
Laura wanted to conduct another experiment to find out if the number of leaves affect the
amount of water absorbed by the roots. he decided to use set-ups A and C to conduct the
experiment.

Suggest two changes that Laura should do to set-up A and C to make the experiment a fair
test. (2 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 44 of 64 Primary 5 Science (Term 2) 0 pts

Laura conducted an experiment in a classroom as shown below. She wanted to find
out if réots tHke in water.

- .

—— -

e o e e e
T TN T S, A e PRI

set-up A set-up B sal-up C set-up

Laura wanted to conduct another experiment to find out if the number of leaves affect the
amount of water absorbed by the roots. he decided to use set-ups A and C to conduct the
experiment.

What is the purpose of the layer of oil in this experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 45 of 64 Primary 5 Science (Term 2) 1 pt

Wei Ling carried cul an experiment on four sheets W, X, Y and Z each made of a
different malerial. She placed sheet W on the side of a table and placed a heavy
rock on il to hold & down firmly. Then she pressed the sheet down slowly until it
broke. She repeated the experiment using sheets X, Y and 2

pressed
sheet W down

distance
bent

——— tahble
e -
She recorded the results in the table below.

Greatest distance bent
Shaat before breaking [cm)
W 7
—3 1
¥ 5
7 2

State the property of material that Wei Ling was testing.



Question 46 of 64

Primary 5 Science (Term 2) 1 pt

Wei Ling carried cul an experiment on four sheets W, X, Y and Z each made of a
different malerial. She placed sheet W on the side of a table and placed a heavy
rock on il to hold & down firmly. Then she pressed the sheet down slowly until it
broke. She repeated the experiment using sheets X, Y and 2

pressed
sheet W down

distance

bent

———— table
-

She recorded the results in the table below.

Greatest distance bent

Shaat before breaking [cm)
W 7
—3 1
Y 5
7 2

Based on the results of the experiment, which one of the materials W, X, Y or Z should Wei
LIng use to make a pair of chopsticks? Give a reason for your answer.



Question 47 of 64 Primary 5 Science (Term 2) 0 pts

Kim gently lowered an iron ball into a beaker of water as shown in the diagram below.

string
iron ball

beaker —— _
. 4 water

What change to the water level will Kim observe when the iron ball is fully lowered into the
beaker of water? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 48 of 64 Primary 5 Science (Term 2) 0 pts

Kim gently lowered an iron ball into a beaker of water as shown in the diagram below.

string
iron ball

beaker —— _

4 water

Kim then replaced the iron ball with a lighter glass ball of the same size and repeated the
experiment.

Will the water level be lower, higher or remain the same as in her previous experiment?
Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 49 of 64 Primary 5 Science (Term 2) 0 pts

Study the set-up below.

iron rod with
a sharp tip balloon

The iron rod was heated for 5 minutes and the balloon burst. Explain why the balloon burst.
(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 50 of 64 Primary 5 Science (Term 2) 0 pts

Study the set-up below.

iron rod with
a sharp tip balloon

The iron rod was changed to a ceramic rod and the experiment was repeated. After 5
minutes, the balloon did not burst. Explain why. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



Question 51 of 64 Primary 5 Science (Term 2) 2 pts

Ken conducted an experiment using two identical pots as shown below. Pot Y has a
black surface while pot X has a white surface. Both pots were filled with 200 cm? of

water at 0 °C and heated with 2 similar burners.
thermometer

liguid

burner

pot X . pat ¥

The temperatures of water in both pots X and Y were recorded every minute for some
tima, The graph below shows the results of Ken's experiment,

femperatura (*C)

100 <+

50 T

i } —— s Time (min)
] 20 40 60

Based on the results above, which pot X or Y can be used to cook soup in a shorter time?
Explain your choice.
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Ken conducted an experiment using two identical pots as shown below. Pot Y has a
black surface while pot X has a white surface. Both pots were filled with 200 cm? of

water at 0 °C and heated with 2 similar burners.
thermometer

liguid

burner

pot X . pat ¥

The temperatures of water in both pots X and Y were recorded every minute for some
tima, The graph below shows the results of Ken's experiment,

femperatura (*C)

100 <+

50 T

1 } o ' Time (min)
0 20 40 60

What will the temperature of the water be in both pots at the 651" minute?



Question 53 of 64 Primary 5 Science (Term 2) 2 pts

| he diagram below shows a dog house that is in the garden.

Baszed on the results of Ken's experiment, should Kean paint the roof of tha
dog house black or white i he wants to keep his dog cooler on a sunny

day? Explain your answer. 2]



Question 54 of 64
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Rina wanted to find out which material s the most suitable for making a bottle io store
esseniial oils. Essential ois, usually used for scenting rooms, are best stored away

from direct Bght fo prevent a loss of guality.

She placed material E al posiflon X and shone the torch on it as shown below,
A Iight sensor attached to a data logger was used 1o record the amount of light that

passad through the material,

= | Le

light sensor

data
logger

She repeated the e:per&-nml with malerials F, G and H. For each material, she
conducted the experiment three times and recorded the results in the table below.

. | Thickness Average amount of
g (em) light detected {units)
E 1 52
P 1 43
G__| -~ 1 38
H 1 15

Give a reason why Rina repeated the experiment three times of each type of material. (1

mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Rina wanted to find out which material s the most suitable for making a bottle io store
esseniial oils. Essential olls, usually used for scenting rooms, are best stored away
from direct Bght fo prevent a loss of guality.

She placed material E al posiflon X and shone the torch on it as shown below,
A Iight sensor attached to a data logger was used 1o record the amount of light that
passad through the material,

matertal E
data
logger

light sensor

She repeated the e:per&-nml with malerials F, G and H. For each material, she
conducted the expeﬂrrmlﬂrm times and recorded the results in the table below,

i ————

Thickness Average amount of
i {cm) light detected (units)
i 1 52
F 1 _ 43
I 38
H 1 15

State the changed variable in this experiment.
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Rina wanted to find out which material s the most suitable for making a bottle io store
esseniial oils. Essential olls, usually used for scenting rooms, are best stored away
from direct Bght fo prevent a loss of guality.

She placed material E al posiflon X and shone the torch on it as shown below,
A Iight sensor attached to a data logger was used 1o record the amount of light that
passad through the material,

matertal E
| data
logger

light sensor

She repeated the e:per&-nml with malerials F, G and H. For each material, she
conducted the experiment three times and recorded the results in the table belowr.

i ————

Thickness Average amount of
i {cm) light detected (units)
E 1 52
F 1 _ a3
6| - 1 38
H 3 15

Based on the results in the table, which material E, F, G or H is most suitable for making
bottles used for storing essential oils? Give a reason for your answer.
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Rina conducted a similar experiment using different thickness of material K.

material K

-
fit torch — data
logger
lIight sensor
She recorded the results in the table below.

Thickness Average amount of
{cm) light detected (units)

5 42

6 32

7 25

8 2]

Write down a suitable aim for the experiment. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Rina conducted a similar experiment using different thickness of material K.

material K

-
fit torch — data
logger
lIight sensor
She recorded the results in the table below.

Thickness Average amount of
{cm) light detected (units)

5 42

6 32

7 25

8 2]

What can she conclude from the experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Tom conducted an experment as shown below.

o 0—
switch

e

11 tums £

pile of steel paperclips

The two rods were placed 5 cm above a pile of steel paperclips before the switch was
closed. The number of paperclips altracted to each rod are shown below.

~_lIron Rod E Steel Rod
15t Trial 15 o 10
2™ Tral 14 B -
3™ Trial 16 B

Tom's friend said that the experiments was not fair and they were not able to conclude which
rod, iron or steel, was an electromagnet with a greater magnetic strength. Explain why Tom's
friend is right. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Tom conducted an experment as shown below.

o 0—
switch

e

11 tums £

pile of steel paperclips

The two rods were placed 5 cm above a pile of steel paperclips before the switch was
closed. The number of paperclips altracted to each rod are shown below.

~ fronRod Steel Rod
1% Trial 15 o 10
2 Trial 14 B =
3% Trial 16 8

List one change Tom can make to the set-up such that he can conclude which rod is an
electromagnet with a greater magnetic strength. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Tom conducted an experment as shown below.

o 0—
switch

e

11 tums £

pile of steel paperclips

The two rods were placed 5 cm above a pile of steel paperclips before the switch was
closed. The number of paperclips altracted to each rod are shown below.

~ fronRod Steel Rod
1% Trial 15 o 10
2 Trial 14 B =
3% Trial 16 B

What would be observed if two more batteries are connected in series to the circuit above?
(1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Study the circuits below. In the given circuits, all the bulbs were |it.

circuit X

—

il

®

&
93¢
&

circuit Y

R
&

{1]1]e

In the table below, write down the number of bulbs that would remain lit when

one of the bulbs in each circuit is blown.

Clrcuit X

Eiﬂ:l_.lit Y

Mumber of bulbs remaining it -

2 pts

[2]
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Study the bwo graphs below. Gmi:lh 1 shows the average eleciricity bill for John's
familty. Graph 2 shows the average monthly temperature in Singapore.

Amount (5) Temperature (°C)

& Graph 1 & Graph 2
120+ i 28+ . ph
1104 271
- oo bl

- 244 fii jifiH E
= b el e
01 B B E g 1 BE| 23+ ] B B

Apr May Jun Jul Aug Sep Oct Apr May Jun

Month

John observed that there was a large increase in his electricity bill for the months of June
and October. Based on the graphs, give a possible explanation for this increase. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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The following situation was observed at an electrical socket in Juhn's house.

1 enlarged view of
the frayed wires

electrical

Based on the above diagram, siale two electrical safely ssues and give a

possible precaufion John can {ake to address each issue. 2]
) Safety lssue Possible Precaution{s) to be taken

{1

(i)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.



